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Trzfaée

With avowed objective of accelerating the process of improvement in the study of
Science and Mathematics, JICA pilot project is being implement ih the full swing in
25 schools, selected for this purpose under the direction and supervision of the ministry
of Human Resource with the sanguine expectation that the success of this project will
yield positive result by ameliorating the standard of our children in Mathematics

which is of monumental importance for the furtherance of Science Education.

I feel that the ook which fias been written in crisp and (ucid English language makys
a simplified approach to the study of Mathematics by the children studyjing in grade 6.
It is my fervent hope that the students will be ablg fo fiave a self-study as the subject

is presented to them in such a manner that they will fave no difficulty in

understanding the subject which would facifitate their comprehensive grasp.

Publishers



Message from the Principal

The English medium classes have been started and progressing
since 2003 in our institution. Though our teachers conduct these classes
efficiently the seripus problem the students face is in.s‘”ﬂiciency of activity
books and Teache;'s‘ guides in English. ‘

During thé part of the JICA Project, the QF circle-4 members
haven taken a great initiative to upgrade the Mathematics Activity Book I
and to produce a new edition.

This has béén made possible through the JICA project fund, and

we are very thankful to the JICA organization.

Hope the students will benefit greatly through this activity Book.

Mrs. K. Ponnampalam,
Principal,
J /Vembadi Girls’ High School.
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Unit 1
MEASUREMENTS RELATED TO HOUSE

Explore yourselves

Think about the terms - length, width, height, distance, depth, thickness.

Fit them in the blanks in the suitable places of the following sentences.

1) You want to buy a curtain cloth for a door of your

house. So, you have to measure the .....................
and the. o e of the door.

2) You have a plan to buy a table-cloth for your dining
table.

3) To pack a gift in a box, you have to check the gift with
the lengih ............... o AN s e of the box.

4) Before you start a journey to a temple, you want to
estimate the time that will take to reach there. So, you
need to know the .................... between the temple

and your home along the road. {

5) You are arranging some books of same size on a shelf.

So you have to know the .............. AT, of a book.




6) A bucket has fallen in the well. It is at the bottom of

the Well, THE o s onsonest of the well is about 7 m.

I got a stick of 6 metres length, but I could not reach

the bucket.

length of the

Distance )
Length
Width
Height
Depth
Thickness

pen.

> are all related to some length measurements.

-

UNITS OF MEASUREMENT

UNITS OF MEASURING LENGTH

Group Activity (Discuss - collect and Display)

Have you heard

about the ways our elders used to measure length?



Why do we need some other units of measuring length? (Discuss)

Give some examples for units of measuring length, which we found then.

Why do we use SI units nowadays. (Discuss)
Give some examples of SI units.
O s g) e ) | R

Prepare a chart to display your answers like this.

In ancient days In between Now

Do you know?

L EL LS it

SI Units

SI :- System International d’units (The international system of Units)

SR NR

metre is the unit of measuring length in SI units. So, metre is

referred as a base unit. /

Ll 1 L L

metre (m), centimetre (cm), millimetre (mm) and kilometre (km) are

also units of measurement used as SI units.

T LS, T LT /8.

N M TN N S A R R

MO RN

LAEH HIA LS LS,



- Just think about it — Fill in the empty boxes

[)Wemayusea [T[HIE[R[MO[ME]T] [ ]
to measure the temperature.

2)Wemayusea [M|E[T[ | | [S|T[I[C|K]

" to measure length.

Name the measuring devices

(ruler, tailors’ measuring tape, carpenters folding ruler, surveyors’ tape

measure)

|I'|'I'l'|'I']"I'l'l'I'l'l'l'l'l'l'l'l'l'l'l'l J 5.8 84 B4 B2 B8 LA Bl |
0 1 2 3 4 5 6 7 8 9 101112 131415 1617 181920 21 22 23 24 25 26 27 2% 20 30

2iZ 22 1 D2 b
E‘L‘ﬁ P et Ff‘




Write the suitable units usually used to measure these things

(mm, cm, m, km)
1. length of a car D 4. width of a doorway l:_l

2. length of a pencil I:] 5. thickness of a coin l_—_l

3. height of a building ':l 6. distance between two countriesD

||I||I||'||||||||l|||||
0LES1 52 Il 5i%3 6 7 8109 10 STHAEIORIN A SASSIS NiE | 17 |8 19 20 21

The length of the brush shown in the figure is about ............ cm.

The length of the brush is about ....... CHL vsis mm.

oI U] i [ SR [ AR T B L] [ et
0 =1 247 13 4.5 GRaN7 8 9% T0RCIER2 130 14 1S 16 17 18 19 20 - 21
cm
The sharpened pencil shown in the picture is about ................. cm long.
o
5
" The height of the vessel is about................ cm.
kL The depth of the water is about............. cm
The height of the 2 books is about............. cm.

Thickness of a book is about.................. cm.




Activity 1
Measure the length of each object with appropriate measuring devices, and
enter the measurements here.

You may use the units m or cm or mm or m and cm or cm and mm.

Lengths to be measurement

Object measured (round in whole number)

Blackboard 0L e s IR D S N P
height = | .occinsncommamsonasones

éhoth 1 oo dest TR ORINST |

Class room width | o nmbn it tesi

lenoth . ... .. foiosm et

Teacher’s Tabvle width | e e
helght ........................

Drawer depth i .. | biassenibonmasede.

lehpthenl - |...octeadbee it
Book i WAIATH | e erneesameE
; thickness ........................

Pencil

length. * - |..cooions o RN,

Do it yourselves.

Complete each sentence with the more suitable word from centimetre(m)
or metre(m) or kilometre(km).

1. Your pencil is about 15 ............. long.

Ramais about 1 ............ tall

The height of the coconut tree is 7............

The height of the mountain is about 2000 ...........

The depth of the small pond in front of our house is 1............

P e gt

He walks about 3 ...... .... 1n one hour.




‘O 123 45 67 89 10111213 141516 17 18 19 20 21 22 23 24 25 26 27 28 29 30’
cm

Observe a ruler you have and fill in the blanks.

In a ruler, each centimetre is divided into ......... equal points.

Each pointiscalledasa .................. ;

a).r Answer the following questions.

1. How many millimetres does a centimetre have?

2. How many millimetres are there in 3 centimetres?

3. How many millimetres do 3 centimetres and 5 millimetres have?

b) Fill in the blanks with suitable numbers or with the words
from the brackets

) 3 1 e &~ AR cm .

Hy2mmi . nss cm
2. 145cmoflengthis ............... (more, less) than 1 m.
3. 145cmoflengthis.............. (more, less) than 2 m. .
4. 145cmiis ............ c¢m more than 1 m.
6. 145cm=...... i SRy cm

¢) 1. Write the following lengths in metre

eg:-i). 300cm = ...... % . m iv) 2700cm =............ m
1) “700-cm~= Lo m v) 3200cm =............ m
iii) 2500cm= ............ m vi) 3700cm =............ m



2. Write the following lengths in centimetre.

eg Lclmoi= 100 cm il it B saseliny cm
IR S R R cm V. 70Mm =i cm
il M2 M ey cm Vi: T = s cm

3. Express these lengths in metre and centimetre
eg:- i.325cm= 3 m 25cm HI ST =l
Ha b7 Em= & oo cvvvmmss bt 1%, 1OEEMmL. ™ i siiaes

4. Convert into cenﬁmetre

eg:-i. 1 m25 cm = 125cm iv. 2m45 M= s
H7mo00cm=......c.e..... v. 2lm40cm=................
fli.5m8Scm=.....cceeeennnen vii 8m 9cm=........coennnnue

5. Convert into millimetre

eg:- 1. 12cm = 120 mm
ii. 8cm S i g
i, BCMSMM = .....cevoevnnsarmsnnn

6. Convert into centimetre
eg:- i. 110 mm = llcm
(: ll 70 mm e e T oA re e e

iii. 200 mm L R

d). Write the following lengths using mixed units.

eg:i- i. 174cm = 1m74cm iv. 10 mm = ... SIS
fi. T85em = iivinerereens R R Sy
HEs B, ¢ =5 o1 oo n ek ponnts



Activity 2

Measure these lines as accurately as you can and write the lengths

in the blanks

...........................

Explore vourselves

F SN

a) b) c)

Look at (a) , (b), (c), (d)
1)@y age L U e, (straight, curved) lines.

2) by, d)are.......oconenvus (straight, curved) lines.

(d



Activity 3

1) Prepare yourselves with a ruler, pen, pencil, blade, white chalk, eraser

and an envelope to do this activity.

2)  Use the ruler to measure the things you have and complete the table.

Object

Length in cm, mm

Pen

Pencil

Blade

White chalk
Envelope

Eraser

3)  Draw lines to each measures you got using ruler.

4) Check, by placing the objects on them.

10




Unit 2

ANGLES THROUGH THE OBJECTS IN A

HOME

1. Find out the right-angled corners in your classroom and at

your home.

List some objects which have right-angled corner / corners.

Objects having right angled corner / corners

In the classroom

At home

.................................

.................................

---------------------------------

.................................

.................................

---------------------------------

2. Select the suitable answer and fill in the blanks.

L.

Could all the right angled corners fit one another when one

placed over another?

(Try to check your answer using some right angled objects)
II.  Two right angled corners can be placed side by side along a

................................. (straight line, curved line)

(Try to check your answer using right angled objects)

11



III. The set-square in your instrument box ................. (has a,

hasn’t any) right angle.

IV. All the angles on a set-square ........................... (are,
aren’t) right angles. Only one angle is ........................

(not right angle, right angle).

V. Can you obtain a right angle by folding once a piece of
" paper, which has only one straight edge?

VI. Can you obtain a right angle by folding once a piece of
paper, which has no straight edges? ...........................
(Yes. No)

VII. Can you obtain a right angle by folding twice a piece of
paper, which has no straight edges? ...........................
(Yes, No).



Group-Activity: Understand while doing.

Complete the table below using given instructions in steps 1 to 5.
One example has been done for you.

Step—1) Make a clock — face such that both the clock-hands can be

moved to show time.

Step—2) Set the time given in the 1st column of the table one by one,

and draw the clock hands to show the ‘angle between two

hands’ in the 2™ column of the table.

Step—3) Use a right angled corner to decide the angles between the

clock-hands are whether right angles or greater than a right

angle or less than a right angle, and fill the 3rd column of the

table.

Step —4) Cut the angles between the clock-hands in colour papers and
paste them into 3 groups according to the angle types such as
right angles, less than a right angle, greater than a right angle.

Step-5) Discuss and name the groups suitably as acute angle, obtuse

angle and right angle.

13



Table for the above activity

Angle between Right angle /
Time ¥ lack-hands greater than a right angle /

less than a right angle

01:00 @ Less than a right angle.

03:00 O

04:00 O

05:00 Q

09:00 O

14




Activity:- (do your own)

Step-I) Lay two sticks (AB and AC) together with a common end

point ‘A’
B, C B Pf B
C
—> —> —>
ERN C
A A A PSRk

(we can mark e
angle like this)

Step -1I ) Rotate one stick about the point ¢ A’ little by little.

> You can observe that the rotation makes .................. (an angle, a

space) between the two sticks.

> By rotating continuously, the angle will .................. (increase,

decrease) continuously.

» Till the angle becomes right angle, the angles you got are
........................ (right, acute, obtuse) angles.

15



Step III) Again continue the process of rotating.

B B B B
—> = —>
a o P >
A A\ A A 4
C
C
C

Fill in the blanks using suitable words from straight, obtuse,

acute, right. You may use one word more than once.

> After rotating another right angle, youwill geta ........................

line.

» Then the angle made by the two sticks through the rotation is called

> So,togeta..cceeinininnnnnn. angle by rotation, you have to rotate the

sticks through two right angles from initial stage.

> And any angle increasing from a right angle to a straight angle is

ol BT 1 R S angle.

16



Step IV) Further, continue the rotation

B B B B B CB
—> —> —> —> —)>
D) O Wl

full
rotation
C
C C
half the
rotation

> All the angles increased from the straight angle to reach the initial stage, are

G (< B - s WA (acute, obtuse, reflex) angles.

17



Group Activity

(You need some colour papers, scissors, bristle board and gum)

Step-I) Take a piece of colour paper and make it having no straight

K

edges.

eg:

Step - II) Cut some pieces to make acute angles, right angles, obtuse
angles, straight angles and reflex angles.
Try to get atleast two distinct angles of each type

(You may use more than one colour paper)

Step - III) Paste them into groups as shown in the table below , on a bristle
board.

Step - IV) After discussion, do the same activity at home and paste the cut

pieces in this table.

18



Different Types of angles

Acute Right Obtuse Straight | Reflex
angles angles angles angles angles
Think about it

Do you know why you have been advised to make the
paper having no straight sides?

If you ignore that advice, what will be the difficulties you
may face?

Can you suggest any other ways to overcome this problem?

19




Write down the kind of angle marked on each figure.

(right angle, obtuse angle, acute angle, reflex angle, straight angle)

20



Draw and mark an acute angle at a point O , given below.

Draw and mark an obtuse angle at a point A , given below.

Draw and mark a reflex angle at a point B, given below.

21



Unit 3
MEASUREMENTS OF A HOME GARDEN

1. Observe the following three sided shapes and answer the

questions below.

(2) (b) (c)
(d) © ®
() (h) @)

a) Which of these shapes have one curved side and 2 straight sides?

.......................................................................................

----------------------------------------------------------------------------------------

d)-Which shapes have'three straight sides? ........cccoceiunivsnirsmsnssiesnsen
€) Which shapes are closed shapes? ................cooooiiiiiiiiiiiinn
f) Which closed shapes have three straight sides? ...................oooeiniis
g) Which of these shapes are triangles? ................ocoviiiiiiii,

22



Group activity

You are given some straight sticks of several lengths and some curved

string pieces.

Try with the sticks and strings and answer the following.

i) Can you make a three sided closed — shape, which is not in a plane?
...................... (Yes, No)

if) Can you make a closed — shape having three straight edges, which is
notinaplane? ...................... (Yes, No)

iii) Can you make a triangle using any three straight sides?

2. Fill in the blanks.

Choose the words from (three, closed, plane, straight)

T THARpIe 180 .. e s it figure.
Snanele 198 ... ot o figure.
So, triangle is a .............. 8 S Figure.

2. A triangle has

3. All the sides of a triangle are

3.
/ (a) ] (b) (©)
(d) (©) ()
(2 (h) )

23



e dxnoad

) (k)

)

Observe the given plane shapes and answer the following

questions.
Which of these shapes are

0 LR R R b e g e s S
(iiae Ouageilaterale.. 1OV B9 FR St st o e frev 15
(111}, Bectangles? 100458 S50 QR G s (e owiing
(P Samares - - o e R s vaae
(v); Equilaterals = . - 0 Sy SALIRHE L
(vi) Eqiulateral Trigngles . o 0 i b cheadin onty
(vii) Equilateral quadrilaterals ...
(viii)Regularshapes .. = et

(ix) Neither triangles nor quadrilaterals .................

Put right ( v*) or wrong ( X)) in the brackets for the

following sentences.

[u—

S o G o

. Opposite sides of a square are equal

All the equilateral — triangles are regular shapes

Rectangle is a quadrilateral

Quadrilateral is a square

You are given a quadrilateral all the sides of which are equal.
(i) The shape you are given is a square

(i) The shape you are given can be a square

(iii) The shape you are given need not be a square

If any two angles of a triangle are equal,

it will be an equilateral triangle.

24
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Complete the sentences using suitable numbers or
using words given in brackets

1. Atectanglehas........... corners.

2. Arectangle has ...... pairs of equal sides and .......... equal angles.

3. All the angles of a rectangle are ............... (right, acute) angles.

4. Rectangle fsa special 1. Sownid o (quadrilateral, square).

5. Asquarehas ........... corners.

6, Asquarchas ............... equal sidesand .............. equal angles.

7. All the angles of a square are .................. ( right, acute) angles.

e e S (square, quadrilateral) is a special rectangle.

9. A quadrilateral need not have .................. (some, any) equal sides,

but it can have equal sides.

10.A regular quadrilateral is called as a ..................... (rectangle,
square).

11.A triangle has .................. corniers and ...k e sides

12.All the triangles having equal sides must have ..................... (equal,

no equal) angles. So, it is a regular shape.

Calculate the perimeters of the following shapes.

1. Perimeter o S FEAPRE S - g ) cm
=R cm.
or Perimeter =...... times (5 +....) cm
g . b W cm
i cm
3ot or Perimeter =¢(...... P, G0 B S W X 3)cm

= S e ) cm

...... cm
5cm
For any rectangle ,
Perimeter =2 X length + 2 X width

= 2(length +width)

25



11 ) Perimeter of Figurel=(1+2+ ...... w1 LU )
? 7 G )

3 .

-

Figurel

Perimeter of Figure2=(2 X ...... il Rl )
] < = el S e

Figure2

Could you understand that how the perimeters of figurel& figure2 are

equal?
Try to explain using 10 sticks of equal length.

I1I.
3 cm
lcm
2cm Pemimtet. o= 0 v lesuaisbosads: 1§
o = cm
1 cm
S5cm
IV Perimeter - = &7 teveeess oy )cm
= J X s iwvan cm
: ' =...... cm
e 7cm
For any equilateral triangle
Perimeter =3 X length of one side
Tcm

26



This picture shows the shape of your home garden and how it was
divided into plots. ,
Select the words from (triangle, rectangle, square, triangular, perimeter)

Plot 2

Plot 3

le >ate
a)l. The shape of your landis a.................iiveovenveeenn.
2. The Shape of plot2is a...........0.. i ivieeimsiiai s :
SR LI o O SR es shape..
. RO e s busnin s ks st s

b) 1. You want to make a fence around plot2.

So, you have to measure around the plot2.

The measurement around the plot2 is called as the ................ of
plot2.

Since plot2 isof ................. shape, perimeter of plot2 is the
perimeter of that triangle.

2. You want to fence around plot 3.

So, you have to measure around it.

The measurement around plot 3 is called as the................... of the
plot3.

Since it is of square shape, ................. of plot3 is the perimeter of
that square.

27 BaHr



3,

The length of the front portion of plot 3 is 8m.

(d) Then, can you say the perimeter of plot3 without measuring
around at? ... ST AT G LA (Yes, No)

(e} The petimgter-of plot 3 18 ... coveie i m

28



Unit 4
POSITION OF A HOME GARDEN

Explore vourselves_‘

Fill in the blanks using the following words:

horizontal, vertical, horizontally, vertically

L. Normally, water level1s .........000 e
VOS2 e s N S & o Sl o
3 HIE HOOE 8 L
4 He instanding: Now, heis ... ..ofinmi oo s bia s =
5. He lies down to sleep. Now he iS .........oovovnveie
6. A stone is released at a height.
Dl npt e e it
7. Acarismovingalonga..................... road.
Hmoves ot e,

8. A stone is hanged by a thread.
gt 0T L ot e )
Activity:
List some objects /things in your classroom, which are horizontal and

vertical.

Horizontal Vertical

29



- Group Activity:

L Place a cardboard box on a floor.

II. Observe it and complete the following sentences.

1.Ithas [ | horizontal faces and [ ] vertical faces.

2. There are [:l horizontal edges and [:J vertical edges in the
cardboard box.
[II. Place a tetrahedron on the table.

Number of faces S
Number of horizontal faces [ |
Number of vertical faces [ |

Number of faces, which are neither horizontal nor vertical e

Activity:

I. Discuss about the instruments used to check the horizontal and
vertical directions while building a house.

II. Try to make those instruments with easily available things.

III. Check the horizontal and vertical things with the help of the

instruments you made.

Activity:
Discuss about some information, which could be used to find directions.
e To find North
e To find East
e To find North — South direction

Clues :- Compass, magnet, temples, shadow, sun

30



Activity:
I.  Stand facing the sun in the morning.
II. Stretch your arms out.
o The direction you are facing is ......................o.i...
o  The direction behind youis ............................
o The direction pointed by your left armis ....................
® The direction pointed by your right arm is................... ...

III. Make four friends stand in each four directions, at a distance

from you.
IV. Draw lines with arrow marks from your position to their

positions. ;
V. Copy the lines here by completing the given figure.

O= denotes your position.

North A

v
Note :- On a paper, we usually denote North towards the top edge of
the paper.

Exercise

1) Write down the four main directions.

a) ) ) 5

b) Show them on a map.

31



2) Normally we use lines with arrow marks to denote directions from a
position.

T is towards North
e 18 fomBl UL B L BEE v s
SThc IS ToWarAS ool e b s s
l 18 LOWALAS e ecvs sicinm w  viis s

% IN A to B is North
AAOHEHSLT, L UY Sl

........................

32



F is situated in a direction from A between the North direction of A and

the East direction of A .
So, F is in the
H is in the

..........................

.......................

direction from A

direction from A

4) Give eight directions

3

5)

South - East

<
|

Label the unmarked directions.

33



, UNIT 5
BASIC OPERATIONS THROUGH OUR

NEEDS

Explore Yourselves

1. Ravi, Balan, Kumar are three neighbours. They arranged a family trip

and hired a van.
The number of seats in the van is 20

Number of family members
Ravi 4
Balan 6
Kumar ' 3

Some more people in their neighborhood also wish to join them.

a. How many people from the three families have planned to go on
the trip?
To find the answer we haveto ............. (add, subtract) 4,5
and 6.
The answer is 15.

b. How many more people could join them?

To find the answer we have to ............. ‘(add, subtract) 15 from
20.
The answer is 5.

2. Jega bought a fridge, a radio and a fan.

The amount she had to pay was the ....... (sum, difference) of the prices.
To find that amount, we haveto ............. (add, subtract) these three
prices. Fridge Rs 9000

AL e A (sum, total ) cost is whee. S

Rs 16500/-. Radio Rs 4000

1T = N s B (addition, subtraction) Fati Rs 3500

of the three prices is the total cost.
3. The population of a village is 8365.

34



gs

B sl i s .

The number of males in that village is 5000.

To find the number of females in that village, we have to ........ 25 RN
(add, subtract) 5000 from 8365.

The number of females is the ................... (subtraction, difference)

.61 o e tmenii e (plus, minus) 5000 is equal to 3365.

So, the number of females is 3365.

4. Mala has 10 marbles.
Dinesh has 23 marbles .
¢ Dl EEECRH & (plus, minus) 23 is equal to 33.
They .. adic it (altogether, each) have 33 marbles.
2 (plus, minus) 10 is equal to 13.
Dinesh has 13 marbles ................ (more, less) than Mala.

Mala has 13 marbles ................. (more, less) than Dinesh.

5. In a class of 36 students, 20 have English Medium books and the rest
have Tamil medium books.
The number of students having Tamil medium books is the
.................. (subtraction, addition) of 20 from 36.

The answer is ................

6. There are six divisions in Grade 6 in your school. 3 students from each
division are selected for a competition.
How many students are selected in Grade 6?
To find the answer, we have to .............. (multiply, add) the
numbers 6 and 3.

The ansWeris oo, ....ovoe oo,

35



7. 1In a certain situation, the co-operative shop delivered 3 soaps to each

family card.
120 soaps were delivered on a day.
How many families could have bought soap on that day?

To find the answer, we have to ............... (multiply, divide) 120 by 3.

The aNSWEL 1S, .« uus son sanasion s

Addition: Complete the table quickly

1 7| 5.l dFe 3T 27T % |=9co

4 13

8 13

Exercise

1 ol ol s

T =10

Insdsa.= St =

4, T+0= +7 =
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Activity

You have 30 marbles and your friend has 20 marbles. Both of you heap the

marbles 10 by 10 individually.

I How many heaps of 10 marbles do you have?

ii. ~ How many heaps of 10 marbles does your friend have?

Now, you give your marbles to your friend.

..........

......... (adds, removes) them with her marbles.

Now, she would have

She would have

When we add 30 marbles to 20 marbles we will get

==

30+20=3tens +2 tens =

marbles.

Now try to fill this table

heaps of 10 marbles.

marbles.

tens =

Nimber ot mables Number of heaps of 10 | After giving' yours to your
marbles friend
Number of | Number of
Your friend Your friend
You have : You have heaps your | marbles your
’ has has
friend has friend has
50 70 ) 7 12 120
90 80
60 70
30 80
40 30
70 40
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Exercise:-

1. 80 + 60 = 8§ tens +|:| tens = Dtens =[:|
2.70+30 - |:| tens +|:| tens = I__—Itens =|:__|

3.800+200 = D hundreds + 2 hundreds = l:l hundreds = [:l

4. 7000 + 5000 = :| thousands+|__|thousands =[_|thousands = |

5.70+ 60 =17 I_—___l)tens = |___]tens =|____I

Exercise : Complete the table quickly

5 10| 56| 80| 8o | 70
40
80
60
70
30
ledlies = 127 = J0 + 50 =. ... 00 01700 +500 =1
2. 6+7=13 => 60+70=............... , 6000 +7000 =....................
3. 7+5+3=15=> 70+ 50 +30=............ ,7000 +5000+ 3000
4, 7 700
4 => 400
2 + e e
13 [T]oo
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To add 35 with 43

Mtd I
B35 =30 5

=3tens + Sones =>
43=40+3

=4 tens + 3ones =

/’—\\
l/ \\
/ \
Rt >
P \
' \
! i
I 1
h 1
1 1
\ 1
1 ]
' .'
‘\ 43 ] >
\ 1
\ 7
\ I’
\\\ L
35 +43 >
=> 35+43 = |

39

35 =3tens and 5 ones

43 =4 tens and 3 ones

®

il -
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@ ®
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Exercise

1. 36 +52 =(3+5)tens +(6+2)ones =|:| tens +|::| ones =|:|
(|:| +|:| ) tens +( [H:l )ones=|:] tens Eones =|:|
l:' tens + l__—l ones =|:|
D tens + D ones =|:|
l:, tens + l—_—l ones E

2.7 HES
3,554 +32
4. 27+11
5. 35+44

Mtd II:

Consider the place value table to add 35 with 43

Exercise

Add: 346+ 231

Mtd I
346 + 231

¢
43 >
78w

T O
3 )
- 3
7 8
i O

1
2 5

== .35
=> 43 +

=>B

==71

= (3+2) hundreds + (D +D Jtens + (D+D ) ones

= I__—l hundreds + |:| tens +D ones

g Ed
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Mtd I

H T O
346--> 3 4 6 346
931> 2 3 1 e 51 -

Exercise
1) 134 +133 =

2) 2235+1261= [ |

3) 4326 4) 436 3235
1211 + 1203 + C1T - =
2] T8
Try to add 57 and 26
57 = Stens + 7 ones
26 = 2tens + 6 ones

=> 57+ 26 = 7tens + 13 ones

= 7tens +[_] ten + 3 ones

SRRl o tens + 3 ones
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Set these ideas in a place value table

Tens (T) Ones (O) (Follow these steps)
Step I: add ones
C 7+6=13
al
2 =1 ten + 3 ones

5 7 put [____—I in ones place
6 carry |:] to the tens place

Step II: add tens

- [(J+5+2=[]

26 +

Add : 37+ 86

0 StepI: Add ones
7+6=13 =1 ten + 3 ones

T

D D Put 3 in ones place
3
8

7 Carry 1 to the tens place
6 Step II: Add tens :

1+3+8 =12 tens =1 hundred +2 tens

Put 2 in tens place
Carry 1 to the hundreds place

Step I1I: Add hundreds
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Add using place value table

1) 77 +45 = 2)124+39 =
H T Q) H T
3) 96+35= 4) 7435+ 647 =

H ik O 1 H

43



5) 1237+ 2987 6) 1275 + 735 + 2364

T H T O T H T O

Do it vourselves

o7+ =00
2. 15+ ] =25 =25-15 =[_|
35704 L wiaiogiige =[]
417-2 =] =7-.20 =L ]
5. 15-7 =[] =>1500-700 =]
Activity
To subtract: 45-23
We have 45 marbles. We have to take away 23 marbles.

Il
Vv
e
S

1

Il
=

Group 45 marbles ten by ten . Put them in small bags .

Then we have [—_—_]bags of 10 marbles and [:] single marbles.

To take away 23 marbles, we can select =] bags of 10 marbles and[_]
single marbles easily.

Take away the selected marbles.

Now we have [__| bags of ten marbles and a3 single marbles

Thatis [ ]| tens and[ | ones.

The balance number of marblesis [ |

=45 -23={ |
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Follow the same procedure ina place value table.

T 9) Step I: Subtract ones
45 4 5 5 -3 =2 (5 ones — 3 ones)
23 ; ) 3 4 -2 =2 (4 tens — 2 tens)
D l:l Step I1: Subtract tens
We have 45 = 4 tens + 5 Ones
Take away 23 = 2 tens + 3 ones

The balance 45-23 = D tens+D ones

=>45-23=[ |

Activity

To subtract: 43 — 25

We have 43 marbles. We have to take away 25 marbles
Group 43 marbles 10 by 10

Put each 10 marbles in small bags. -

Then you have l__—l bags of 10 marbles and |:| single marbles
To take away 25 marbles you have to takeD bags of 10 marbles and[:]

single marbles

But, you can’t takeD single marbles from |:| single marbles.
Take 10 marbles out from one bag. Add them with the single marbles.
Now, you have |:| tens and |:| ones.

Now, take away 25 ( 2 bags and 5 single )marbles.

The balance isl___l bags of 10 marbles andD single marbles.

The balance number of marbles is D

=>43-25< ]
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Follow the same idea using place value table

O

13g
3

laai

We can’t find 3 - 5

Take 1 ten from 4 tens.

Then there will be...... tens.
Bring that 1 to the ones place.
Then there will be l:] ones, (1 tens = 10 ones)

Now subtract ones.

Then, subtract tens.

=> 43-25=[ ]

Subtract 185 from 262 using place value table.

H |T |O
5 12
L
1.2 |5
]
LT O
1 15 12
gidlig iy
1 815
e
H|T|O
1} fige o112
2. 0. 612
1 8 15
I L]

Step I: Subtract ones

We can’t find 2-5

Take 1 ten to ones place

1 ten = 10 ones

=>6 Tens + 2 ones = 5 tens + 12 ones
12-5=

Step II: Subtract tens

We can’t find 5 — 8

Take 1 hundred to tens place
IH=10T

==L 5T — ML15T

Now subtract tens

15=8=""1 "1

Step III: Subtract Hundreds

1-1=[_]
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Subtract using place value tables

1) 2743 - 1375 4) 2787 - 364

2) 5842 — 2465 5) 4984 —3943

3) 7472 — 385 6) 6900 — 208
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Activity
Three divisions of Grade 6 went on a trip together. Details about

the number of students are given in the table below.

6A 6B 6C Total
Boys 29 23 17
Girls 13 13 24

Total

The number of students went on the trip from 6A, 6B and 6C are
................ e e and

2. The total number of students went on the trip is..................

N P W more students from 6B than from 6A went on the trip.

4. The difference?between the number of male and female students in
6A, 6B and 6C are ...... . gl

5. The highest difference between the number of male and femalc
students is in grade 6 ........... (A,B,0)

6. In grade 6A and 6B the number of boys is greater than the number ol

girls, butnot in ........... (6A,6B,6C)
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Explore yourselves

1) A book shop sells a dictionary for Rs 50 less than its marked price.

How much does it cost.?

Dictionary
Rs 10507

...................

2) In 1998, the total population in a village was 4375 . Sita
In 2003 the total Population in that village was 7375.
The i, (increase, decrease) in population is ........... during 5

Mala
Sita

2

Mala has to travel 18 km to reach the temple .
She has to travel 8 km to meet Sita .

If Sita wants to go to the temple, how far does she have to travel?
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Explore yourselves

tal i) 0
QRPN
S PREV RIS

3+3+..... he & el
We have to add |:| times 3
So, there are ........... mangoes in all

2. There are 7 rows, each having 8 seats.

To find the total number of seats, we have to ............ 8 by 7.

Total number of seats is the ............. .........of 8 and 7.

Total number of seats = 8 times ............. =8 K s
=TS ooievsnrs B ey

3. Inavillage, there are 20 families.
12 families have 5 members in each.
5 families have 5 members in each.
3 families have 3 members in each.
The total number of people in the 12 families having 5 members
= 12 times (:] = D
The number of people in the 5 families having 4 members

=35 times \:] T :l

The number of people in the 3 families having 3 members

i [iE]oom 2t T
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Various expressions of 4x3

e 4 threes are

e 4 times 3 is

e Multiply 3 by 4. The answer is

e Multiplication of 3 and 4 is

JouEd

e Product of 3 and 4 is

Exercise
1. 3+3+3+3=12 3+3+343+3 =15
4 Times 3 =12 5 Times 3 =15
So, multiplication is a repeated ............................. (addition,
subtraction) :,
2. Multiplying any number by 5 is the number itself.
3. Multiplying any number by is zero.
X 3 7 5 8 6 4 9 2
7
9
6
5
4
8
3
1
2
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Exercises
1. 53X 1=l =

2 1X0 = X7

.

3

3 3X7T =1X

4. 125 &

3 2X(3X5) =(2X3)X

Do it vourselves

1) Follow the pattern to fill the empty boxes

1X10 =10 1 X 100=100
2X10 =20 2 X 100 =200
3X10 =30 3 X 100 =300
12X 10= . 27 X 100=

mx104_ |- 365X 100=] |

2). 12X 80= 12 times 8 tens

= 96 times tens

=96 X 10
-

3. 1B X=15X X 10

Al olx 10

4. 8 X 700= 8 times 7 hundreds
= 8 X 7 hundreds = hundreds =

52




Exercise

-

1.7x 10 4)8X700 =| |X X 100 =
2.136x 10 5) 11 X900 = x ] x100 =
3.16 x 100 6) 11X 2000 = X X 1000 =
Activity
To find 3X 245
3 X 245 =3 times 245
245 = 200 + 40 3
245 = 200 + 40 &
245 = 200 + 40 +
3 times 245 = 3 times + 3 times + 3 times
3N~ 33X + 3X + 3X
= - -
Exercise
1. 5x 846 =5x +3X +5x6
= + +
2. 8x474= x 400 + x 70 + x4
= + +
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Set these ideas in a place value table.

To Find 245 x 3 To Find 967 x 8
245 =200+ 40 + 5 967 =900 + + |
3x245=3x200+3x40+3x3 967x8=8x +8 x
s Th|H [T |O
2ol 9 |6 (7
3 8
IS
=2
We can also set it out likg this
(We can follow these steps: mentally)
stepl L Th BT O Multiply ones
AR F 3 x 5 ones = 15 ones
3x = 1 tens + 5 ones
5 Put 5 in ones place

Carry 1 to the tens place.
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Step 11 Step II

ThHTO Multiply tens
5 64 5 3 x 4 tens = tens
3 add the carried 1 tens
3.8 12+ 1=13 tens

= 1 hundred + 3 tens
Put 3 in tens place

carry 1 to hundred place

Step 111 Step III
ThHTO Multiply hundreds
9 45 3x2 hundreds = 6 hundreds

3 6+1= 7 hundreds

T35 put 7 in hundred place
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To find 36 x 23
36 x 23 = 36x% (20 +3)

= 36x20+36x3

36
_2_3_x
108 <— 36x3
720 +~——— 36 x 20
] ~——— 36 (20 +3) =36 x23

Activity

1.

Kala’s stamp album is filled with stamps. The album has 28 pages.
Each page has 45 starﬁps on it.

SHehas ... o0l e stamps in her stamp album.

I bought 2 dozen exercise books, which cost Rs.27 each.
The ambunt I had paid was Rs. ...............

. A lorry was loaded with 145 baskets of fruit. Each basket had 32 fruits.

Number of frﬁits A 01 CENE - DS
A book has 225 sheets. 45 such books have.............ccccoenenee. sheets.

A cardboard box has 25 packets of chocolates.

Each packet has 100 chocolates.

Three such cardboard boxes have ..................... packets of
chocolates.

They Rave...ouic sres ine chocolates.
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Division

1y 2
2) 9
3) 6
4)

X

X

X

X

=40

=

=60

8 =48

= 0 2=

= 72+9=
= 60+ 6=

—> 48+ 8=

Explore Yourselves

1) Latha has 12 pieces of cakes.

She gives 3 pieces to each child.

How many children could be given 3 pieces of cakes?

To find the answer, we have to find how many 3°S are there in 12.

3x

=12

The answer is 12

The answer is

or 12+3=

[
or 3[6—

(multiplied, divided) by 3.

2) We have 35 chairs to be arranged in 5 rows.

Each row will have

--------------------

eeeeenen o(divide, multiply) 35 by 5

The answer is the number of 5’sin 35.

5 X

So, the number of 5’sin35=

The answer is

=35

= A5 = 35

57
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Exercise:
1) 27+3 = 3’sin27 =
2) 81+9 = 9sin81 =

3 13=2 =86,
2. i5.callelthe Tl i can S wesssionion s (quotient,dividend, divisor)
1245 calleltle o . oinadiiivisvegs (quotient, dividend, divisor)
618 calledilie oo iiin i it (quotient, dividend, divisor)

Activity (Do — and understand on your own)

You have 10 toffees. You:and your two friends try to take equal

number of toffees.

Step 1
o]e)
0]®)
Every one of you takes one toffee. 00
................ toffees left over. 88
Could you all take toffee again? ............ (Yes, No) l
Step 11

Every one of you takes one toffee again?

00000
00000

................. toffees left over.

Step II1

Repeat the same procedure till every one of you
could take 1 toffee.

Number of toffees each one of you have is ...............

.

Number of toffees left overis ................

00000
00000

The quotient'is .. ....ooiveviieisene

The remainderis .........coeven.....
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Step IV

Do the same activity with 15, 16, 17, 18 toffees among three friends.

Step V

Fill the results it the table.
Imagine the same activity with 10,15,16,17,18 toffees - 4 friends

Imagine the safne activity with 10,15,16,17,18 toffees - 5 friends.

(Quotient) (Remainder)
Number of Number of Number of Number of
Friends Toffees Toffees Toffees
everyone have left over
03 10 03 1
03 15
03 " 16
03 17
03 18
04 10
04 15
04 16
04 17
04 18 1= 01 ¥ 0Te o
05 10
05 15
05 16
05 17
05 18
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While filling the table we can observe.

3X3 =9,

3 X 50218,

3X5 g

Exercise:-

1)
1) 8[37

s les

2)
1) 20 has 2 tens

9+1

15 +

2) 300 has 30 tens
3) 5700 has [] tens
4700 has (] hundreds =>700+100=[_]

5) 8 has four 2’s => 80 has [ 20

=10

16

1

2) 6[49
5)9[72

= 2000~ 2

<— Quotient
3]1 0 Q
9

"1 <—— Remainder

5 = Quotient

(V8]
U
(9]

[u—

15

0

5 =— Quotient
316

1:5
1<+ Remainder

3) 4[59
6) 4[37

=>300+10= [ ]
=>5700+10=[_1]

6) 16+4= ] =>1600+400=[_1
7) 5500+ 500 =550+ 50=55+5= []
8) 36+12=36+[_1 =[]
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Exercises

1) 9
o[85 =85 =0x L] +F
81
4
2)

6

BiElE s —ssl=gx ] +[ ]
48
3

[]
3) T7tens+7=[_lten=>70+7 =[1=>7[70

L]
4) 12tens+4=[ Jtens=>120+4= [] =>4[120

5) 25 hundreds + 5= [] hundreds => 2500 + 5= [_] => 5[ 2500

To divide 85 by 4

Long form

TO 85 = 8 tens + 5 ones
2i1

485 Divide the tens first
8 8 tens +4 =2 tens
05
_ 4 Divide the ones
il 5 +4 =1, Remainder = 1

61



To divide 9740 by 7

Long form
Divide Thousands First
Th HTO ; 9 thousands + 7 = 1 thousand, 2 thousands left
1 3 9 1+ Quotient
7r9 740 ousands together with 7 hundreds make 27
—l hundreds
2.7
-T—é : Then divide hundreds
63 27 hundreds + 7 = 3, 6 hundreds left
1 (7) 6 hundreds together with 4 tens makes 64 tens
3 *—Remainderl Then divide tens
64 tens+~7=9, 1 ten left
1 ten together with 0 make 10 ones
Lastly divide ones
10 ones + 7 =1, 3 ones left

The quotient = 1391,

Remainder =3

Short form
Think like this
You may divide mentally
1-3 9.1 Remainder - 3 glonsiczle; f9 =>77 X 1=17, 2 balance
7| 9 7 4 0 ace €10rc
Consider 27 => 7 X 3 =21, 6 balance
Place 6 before 4

Consider 64 => 7 X 9 =63, 1 balance
Place 1 before 0
Consider 10=>7 X 1=7, 3 balance
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Exercise:-

I) Divide in Long form

1) 5764 2) 7(8009 3) 8[587

II Divide in short form

1) 6[96 2) 9793

3) 6[912. 4 . 4[0750

5) 7(3078 6) 3[6310 7) 46615 8) 5[7303

Activity

To divide 85 by 30

[ ] < quotient
30[ 85
[ ] = 30x quotient

B Remainder

85 +30 =D, remaindeD

Think
3 goes into 8 two times
So, 30 goes into 80 ............ times
=>30goes into 85 ............. times

The quotient is |:|
Write the quotient at the top

& & # & © @

Multiply 30 by the quotient
x =l

# Subtract it from 85

85 - | =[]

# Remainder is |:|
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Exercise: -

Divide

1) 40[95 2) 30[74 3) S0[87 4) 70[97 5) 20097

Activity
To Divide 857 by 30

Step I
HTO

[ ] = Quotient in tens place
30[8 5 7

|:| <— 30 X quotient in tens place

[:I <— remainder

Step 11
HTO

[L_F—Quotient in ones place

30[ 857
|
=

<— remainder

<—30 X quotient in ones placg

Think

We can not divide 8 by 30 .
Step I First consider 85 + 30
(85 tens + 30)

85+30= \:L remainder[]
Quotient in tens place is |:|
The remainder should be .........

(less, greater) than 30.

StepIl  Bring down 7
Consider [ | 7+30

([ ] 7 ones+30)
[ ]7+30=_]remaindef |

Quotient in ones place is [ ]

=> 857+30=_ |, remainder [ |

Exercise:-

1) 20[402 2) 40[ 877

64
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To divide 98 by 18

5
18[9 8
90+ 5X18
8

StepI: TryS5
18 X 5 =90 is less than 98.
18 X 6 = 108 is greater than 98.
=> 18 goes into 98, 5 times.
write 5 at the top of the division

Step II: Subtract 5 X 18 =90 from 98
Remainder 8

98 +~ 18 =5, remainder 8.

To divide 274 by 14

19
14[274
__1.i1<' ............ 14X 1
134
126+~ 9X14
08

Step I Consider 27 + 14
14 X 1 =14 is less than 27
14 X 2 = 28 greater than 27
=> 14 goes into 27, ‘1’ time
write ‘1’ at the top of the division
Step I1 Subtract 14 X 1 = 14 from 27
Step II  Bring down ‘4’
Step IV. Now consider
134+ 4
14:X9=126
14 X9 =126, Thisis lessthan 134
So, 14 goes into 134 nine times
write 9 at the top of the division

Step V: Subtract 14x9 =126 from 134 .

So, 274 + 14 =19, remainder 8.

Divide

1) 34[ 823 2) 18[936 3) 86[789

4) 74817 5) 92[8315 6) 23[8245
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Exercise:-

1) 144 items =1 gross
12 items =1 dozen

How many dozens are there in a gross? ..................

2) Mohan drove his car 1746 kilometers
He can drive 22 kilometers in an hour.

He took ...cavicinivnes hours to travel.

3) Kandan has a coconut estate.
He buys 1235 coconut plants.
He plans to plant 34 plants in a row.
How many complete rows could he plant? ..................

How many plants will be left unplanted? ................

Explore yourselves

1.2,4,6,8,10........ 48, 50 ....... are multiples of 2.

There will be no remainder when divided by 2.

[iheiEare - iR AN, (divisible, not divisible) by 2.

These numbers are called ....................... (even, odd) numbers.
2.3 Lo L3 1y - QPP e L, (multiples, not

multiples) of 2.

There will be a remainder 1, when divided by|:| .

THEV. AIC. . evensncstiss o s s (divisible, not divisible) by 2.

These numbers are called ..............coeeeennenn. (odd, even) numbers.
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3) The even numbers end in 0, 2, 4, 6, and l__—]
4) The odd numbersendin [ ], [ ], 5,7and9.

b e 0 16 et et are multiples of 5.
There will be ........... (a, no) remainder when divided by 5.
Satheyate S 0, 0. 000 4. . by 5.

The last digit of a multiple of 5 mustbe [_|or =0

6) 10, 20,0080 50, ...c.liii i b are multiples of 10.
There will be.......c.couruiinn when divided by 10.
So, they are .................. by 10.

The last digit of a multiple of 10 mustbe [ |
7) All the multiples of 10 are also multiples of 2 or [ |

8) A'multipleof2 ..................... (never, sometimes) be a multiple of 5.

Explore vourselves

1) If we want to divide the class into two equal groups, the number of

students in the classmustbe a ....................... or 2,

2) He has sold some raffle tickets each cost Rs10.

The collection he has mustbe a...................... B s s
3) Rama’s uncle gives her Rs5 to put in her till box whenever he comes,

otherwise she does not put any money in it.

When she breaks it, the amount she will find mustbea ..................
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Unit 6
Sharing Food Items

Activity

» You are given 4 apples

» You can take all the 4 apples for you.
N umber of persons shared it = D

Number of apples one personhas = [ | @

> You and your friend share them completely such that each one of you
has equal number of apples.

Number of persons shared it = l___|

Number of apples one person has = |:] g Q '

» Can you share them completely among 3 Children such that each one

gets equal number of apples. ..................... (Yes, No)

> Can you share them completely among 4 Children such that each one

gets equal number of apples ..................eeii (Yes, No)
» Try the similar activity with 12 apples and 18 apples

> Increase one by one the number of children up to the number of apples

- and try to share the apples among them.
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> Complete the following table.

Number of apples | Number of people | Number of apples
to be shared could share equal each gets
04 01 04
02 02
04 01
12| e [
G e R 1

........................

------------------------

........................

........................

From the result of the activity, we can observe

69
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Explore yourselves

1.

The numbers 1,2, [ ] can divide 4 without remainder.

Sol,2, [ 1 are called as

(factors, multiples) of 4.

The numbers, which can divide 12 without remainder are

Give all the factors of 12
Give all the factors of 18

Complete the table

Numbers

Factors

---------------------

.....................

VIRIZIaIEISe|c|w|o|n|s|w|o—

Exercise.

I L
‘ways

36= 1 X 36 =
36=[x O =1 x[]
36=[_1x [] =1 xC]

36 X 1

e P T

Write 36 as a product of two whole numbers in all the possible

.......................................
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2. Write 48 asaproduct of two whole numbers is all the possible

ways.
BB s o yins s o« = o ¢ i
Write down all the factors of 48..............ccooeveviinn...
Exercise.
1) Which number has only one factor? ..........................

2) Write down the numbers between 1 and 15 having only two factors

3) A number having exactly two factors is called a ............... (prime,
composite) number.
The two factors of that number are [ ] and the number itself.

RaCtOrS Ik 0317 ot s tvunsn cnnn bvnvin sommi s sais

BACIOIS OLILT ... iee s vesvns nps ies ited naiiis

PACHEROE I = . covson v s s ssmia o biREe L

2T W0 A PRk )

The numbers 23,19,31,17 have exactly [ ] facfors
SOAMHEY EE . .. e ar s ees e s in (prime, composite) numbers.

4) A number having more than two distinct factors is called a
................... (prime, composite) numbers.
a) Factorsof 4=.................. A sy o

F AR OIS O 6= . isinteenions vanae
FBCIONS OF 8 = it ie s in s van s e mass s

| 0 (o 01108 o e T

Factors-of 12 =......cocc0ieemneinsnsentonndbotss
Fartors D 14 = .......cciiicosusssnsnstomscsmnns
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b) The numbers 4, 6, 8,9, 10, 12, 14 have more than L1 factors
SOThEYare ... i i iveioprss (prime, composite) numbers.
c) 2 is a factor of both 4 and 6.
The factor 2.15. .. .. cavibbutine bt (common, same) for both 4 and 6.
So,2 1scalled a .o e (common, same) factor of 4 and 6.
d) Write down the common factors of 8 and 16.

e) Write down the common factors of 4and 6.

Think Critically

1. The number [ ] is a factor of every number.

3. Multiple of ‘O’ is only [ ]

4. Zero is a multiple of............ (some, every) number.

5. Zero has so many.............. (factors, multiples)

6. Wedl finuEl (can, can’t) divide any number by zero.

7. The number O Juraniririsens (can, can’t) be a factor of any
number.

8. Every number other than zeroisa................. (factor, multiple)
of zero.

9. The number ‘1” has only [ ] (factor, factors).

10. Every whole number has atleast[ ] (factor, factors).

11. Every whole number other than “1° has at least [_] (factor,

factors).
Activity:
Pattern related to factors.
1y2X6=12=6X2
=> 2 is a factor of 12, 6 is also a factor of 12.

=>We can arrange 12 objects in a rectangular pattern having

([_Irows and[_| columns) or ([_] rows and [_] columns).
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The corresponding patterns are

QO 0O
0CO000O0 O Sandabe ol b f Sl e
2 X er=12 e X df= 12
(2 rows and 6 columns) (6 rows and 2 columns)
2) 3 x4=12=4X3
= RaTC:, IREs an sl of 12
=>We can arrange 12 objects ina .................. pattern having

([Jrows and [_Icolumns) or ([_] rows and [] columns).

The corresponding patterns are

or
3 X4=12 4 X3=12
(3 rows and 4 columns) (4 rows and 3columns)
31 x12=12=12X1
=> 1, 12 are factors of 12. o
The corresponding patterns are 8
©)
000000000000 2
3
or O
@)
@)
O
P X 12 =12 12 X 1 = 12
(1 rows and 12 columns) (12 rows and 1 columns)
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Explore yourselves

Fill in the blanks using (factors, multiple)

1) Mathy, Siva, Ranji are three friends.
They were given some biscuits by their teacher.
They shared them equally among them.
They had no need to break them to share.
The number of biscuits given by the teacher was a ............... of 4.
‘A mmstbe d . vavenvon e of the number of biscuits.

2) A well-wisher wishes to present uniform material for some poor
children.
He has decided to give 3 metres of uniform material for each.
But he has only a limited fund to do this.
The length of the material he has to buy mustbe a .................. of

3 within the money.

MBSt BE & 5ovsh navasnin. of the length of the material.
Exercise:
1. Zero (can, cannot) be a multiple of .............. (any, every) number

1) Any whole number is a multiple of ]
2) 5 is a multiple of [_Jor []
2. 1) Write down first 10 multiples of 3

.......................................................
.......................................................
.......................................................
.......................................................

.......................................................
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3. Give seven multiples of 2: EI, LJ,I_],I___I,L_H_J,D A

4. Give seven multiples of 3:[_],[ ] el ! e I
So, common multiples of 2and3: [ ,[]
Give some other common multiples of 2 and 3:
Least common multiple of 2 and 3 is [_]

5. There are 72 books in each of the 8 cases. How many books are there
Al % compan e io &

6. A patient should intake a tablet 6 hourly.
He should intake a capsule every 4 hours.
He starts both at 12 noon.

At what time he takes both the medicine next? ..............ooovu....
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UNIT 7
ESTIMATION FOR CONSUMING
Group Activity

(Ask your parents — Discuss with your teacher and your friends)
» Collect the following details.

> Estimate the minimum expenditure for a cup of tea.

Step 1

What are the things we usually have to buy to prepare tea?

Step 11

Estimate the amounts of the things for a cup of tea

Sugar - teaspoons
Milk powder - teaspoons
Tea leaves - teaspoons

Step 111
Prepare a Price list

1 kg Sugar

400 g packet of Milk powder

1 kg tea leaves
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Step IV

Estimate the number of teaspoons in certain amounts of things

1 kg sugar = teaspoon/s.
400 g Milk powder = tea spoon/s
1 kg tea leaves = teaspoon/s
Step V:
Estimate the expenditure for each thing for a cup of tea.
Price of 1 kg sugar is Rs.
= Price of teaspoonfuls of sugar is Rs.

= Price of 1 teaspoonful of sugar is about Rs.

= Estimation of expense for sugar for a cup of tea is Rs. !

Milk powder
Price of 400g packet of milk powder is Rs.

= Price of teaspoonfuls of milk powder is Rs.

= Price of 1 teaspoonful of milk powder is Rs.

= Estimation of expense for milk powder for a cup of tea is Rs.

Tea dust
Price of 1kg tea leave is Rs.

= Price of teaspoonfuls of tea leaves is Rs.

= Price of 1 teaspoonfil of tea leaves is Rs.

= Estimation of expense for tea leaves for a cup of tea Rs.

i)



Step VI

For a cup of tea

Sugar costs Rs.
Milk powder cost Rs.

Tea leaves costs Rs.

Total Cost is Rs.

Step VII

Answer the following questions

You take 2 cups of tea daily.

Estimate your tea expenditure for a month

The estimation is Rs.

There are 4 members in your family.

Estimate the expenditure for tea for your family for a month.

The estimation is Rs.

Activity
A school has grades 6 — 11, Each grade has five parallel classes. The
number of students in each class is about 30.
Estimate the number of students in that school.
Number of Grades =
Number of parallel classes e :

Number of classes =

Number of students in one class -

Number of students the school =
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Group Activity
Bring some objects / things of known weights.

Read the labels.

Lift them / Take them on youf palm

Feel the various weights.

Now take some objects / things of unknown weights.
Lift them or Take them on your palm

Estimate the weights.

Check them by measuring them

Estimated weight in kg | Measured weight in kg

Thing / objects
or grams or grams

Brick \

Dictionary

School bag with books

Chair

Cricket bat

Group Activity

Measure the heights of your group members in cm.
Estimate the heights of the following things in the table, After estimation,
try to measure them (if possible).
Check them

Estimated heights(m, I Measured height (m,

Things / objects i) i)

Teachers table

Door way

Class room wall

Telephone booth

Net ball post

Mike stand

Always explain how you made your estimates.
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Unit 8

ESTIMATING LARGE SCALE NEEDS
Activity |

A workshop was conducted for students selected from 25 schools for ten
days.

200 students participated from each school.

During daytime, they were distributed tea and lunch.

Detail of the distributed items is shown below.

10am. - 1 vadai Price List

Bpie Vadai - 5.00
12p.m. - 1 Lunch packet Roll - 6.00
4pm. - 1Roll Aea il

- 1Tea Lunch - 40.00

Prepare a chart using the following table to find the amount of each item
needed for the 10 days.

I. Forachild

II. For a school

III. For all the participants

Find the expenditure for these items for 10 days.

I. Forachild
II. For aschool
III. For the 25 schools
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X : For all the participants
o [t:eill::;te P Forladcahynd / Folroadc;l;;d / (zooftz:i :nstcsllllol;)tllays) (200)$5d:tyus()lents/
Amount | Cost | Amount | Cost | Amount Cost Amount Cost
Vadai 1 5.00 10 50.00 2,000 10,000.00 50,000 | 250,000.00
Tea 2
Roll 1
Lunch 1

For Large-scale estimations, we need to know about writing and
reading large numbers

Do it yourselves

1). Consider the numbers 45 and 54.

L «BolEaye s, . L KWWy thi: | a0 ( same, different) digits.
TSR 151 1 | et O (two, three) digit numbers.
III. But,theyhave ............................... ( same, different) values.

2) Consider the numbers 45 and 455

I. 45isa - digit number and the digits used are 4 and
II.455isa - digit number and the digits used are 4 and
In 45,

I. The place value of 4 is

II. The value of 4 is

In 455,
I. The place value of 4 is I
II. The value of 4 is
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3) I. Show 4025 in a place value table

I1. Show 4025 on an abacus.

4) Write these numbers using digits. _
I. 4 hundreds, 2 tens and 3 on'es‘ : c [:I

II. 3 thousands, 3 tens and 2 units -

I1I. Five thousands (and) three -

IV. Seven thousand three hundred (and) twenty

5)- 1.1 TFen= ones

II. 1 Hundred =10 Tens = ones.

III. 4 Tens and 7 ones = 40 ones + ones

= ones =
IV. 3 Hundreds, 8 Tens and 30 ones = 300 ones + ones +
~ ones
= ones

6) Write the expanded form of the numbers.

I. 4365 = +| | + 60 +

I1.9217 = x 1000 + X + X +

. 1013= s +
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7) Write the numbers in expanded form

Number
(Standard Expanded form
form)
4365 4000 + 300+ HE O e s St L

e i SR -y TR S .
i1 1ke BRSO SRS S

.................................................................

.................................................................

8) Write the numbers in words

Number

(Standard form)

Number in words

7405
9007
4236
5025

9) Write in numbers

Number in words

Number using digits

1) Seven thousand five
hundred five

2) Twenty thousand one

3) Nine thousand twenty one

----------------------------------------------------------------

................................................................
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Activi

I. Observe the numbers put in the following place value table.

S Hof e
Elg| 22 |8-|E|Blal5
g o e |22 =5 | = E =)
- == © = = ]
= = = = = e < = 2| @
= = = & = ] = ) =
BEl3 | B8 g~ |8 | B |FLC
g% | E|F |E|F
= =Y
(St Number Words
Ry One
i L] Ten
1 {0 0+— Hundred
1 0 0 0 Thousand
1 0 !0 :i0:0= Ten Thousand
1 0 i0io0ioio. Hundred Thousand
1 0 0 0 0 |0 0-——1 Million
10 0 0 i 00 :io0:o0- Ten Million

II. Try to express these in other ways

1 Ten=

1 Hundred =

1 Ten Thousand =

ones =

1 Hundred Thousand =

Activity

tens = | l ones

Thousands

Thousands

To read and write large numbers into words

Step I: Consider the number 1247348
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Step II: Write it in the place value table

M HTH -=- --- H Al O
1 2 - ] 3 4 8

Step TII: Fill in the blanks

1 Stands for 1 Million = 1 Million

2 Stands for 2 Hundred Thousands = Thousands
AStands fOr 4 ceeoeeeccencieeriierionionns = Thousands

TS iandE I T i L TS = Thousands

3 Stand S RIRERIGUE E0L Cluva s L e = ones =

4 StaNdSTOF 4 ceeevecnccononnccennriiiiiions = ones = |:|
Rl T R = ones =

So the number has: million, ( + + ) thousands
and ( + + |)ones

=> 124738 = Million+| | Thousands + Ones

= Million + | Thousands +

Step IV: Complete the blanks using suitable words from millions,
thousands, ones.
We can observe that

L. The digits in the places HTh, TTh, Th together gives a 3 digit
number referstothemmmber of ..................ccocciiiiinivieni

of that number

II. The digits in the place H, T, O together gives a 3 digits number

referstothe numberof ........................ of that number.
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Complete the table - Use the knowledge gained from the
activity

Number Mil;'ilons H":llllou;?rnhds Th HOPres 0 Million | Thousand | Ones
1274634 1 2 T 4 (6|34 1 274 634
2734505
5036421
4003001

Use the above table to write the numbers in words.

1274634 = One million two hundred (and) seventy four thousand six
hundred (and ) thirty four.
2738505= L raans T UL S R S o i SO thousand..........

..............................................................................

O TN g v LV P 18 S DTy Serwmirs o

------------------------------------------------------------------------------

ABOBO0 Y=, cins s snabiranndamsgsis hains SSpRss A E AR TR RS et was WSBMBREE a0

------------------------------------------------------------------------------

Activity

To make it easy to read a large number

I.  Start from the right side of the number.
II. Separate the digits into periods consisting 3 digits.

The first period from right is calledas ...................... period.
III. Leave space or put comma between different...................

(periods, digits) to read easily.
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Exercise:

1) Write the numbers by separating into periods and write in words

Separating into
) In words
periods

12347401 12 347 401 Twelve million three hundred forty

seven thousand four hundred one.

VOTOBATOL oo G2 ety o vomvrnms kabvsasnn ot o UGS

57630300 Sl /sy " wheeln hata s 61§ e ess arereie el o Wikl 0 RIS Sp RS & Kol L

2) Write the number using digits by separating into periods.

Number in words Number using digits

| Two millions, three hundred
twenty three thousand, four 2 323 407

hundred seven

Twenty three million thirty

............................................

seven thousand one

Thrcemillion sevell 8 L Rl e b

Edur million eighteety “SeSual oo oo T UM L ey

87



Abacus
Acute angle
Add
Addition
Altogether
Angle
Appropriate
Arrange

Balance
Base unit

Chart

Closed shape
Collect

Column

Common factor
Composite number
Convert

Corner
Corresponding
Curved line

Depth
Difference
Digit
Display
Distance
Divide
Dividend
Divisible
Divisor
Equilateral

Estimate
Estimation

Glossary

616001 &FL_L LD
FaJmIGHmTEmNTLD
Fal_(b%

Fal 60
616L6VMLDTH
Baxmemiid
CuT®SHHLoTent

RUOBIGLILIGHSH60

&S
SIQUILIDL.  SIVG

suemIL

w2 G
G HH60
Biyed
QuTgIbsTy 6w
Caysnd eremn
LD BDISH60
apemey, o &4
O mLumen
auemeTBGaHT(H

SIPLD

allHHWTFLD

®)6VHHLID

(6HIH) BTL([BHV
QemLHBIJLD

Uil SBHe0

UG HD

UGUL HHHHDHI
eU@GLILITeDT

FOLUSS 2 (H

HUIBHHL
HULIH
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Explore SR CoHBHY

Express - OeueMiILBSHSHIH6D
Factor - STy el
Height - o Wb
- Horizontal - SlemLwimer, alenL
Horizontally - FlemL W
Instruction - DIl BISHHEVH6N
Instruments box - o _LISFIGLIL IQ
Length - H6TLD
Long term - Omuw 2 @
Magnet - SMHSHLD
Measurement | - Sienai(h
Million : - L0606 wiedt %
Minus - BPHHEL DIEHLITENLD, &HMBH6L
Multiple - CuEsEHID, 1DLRBIG
Multiplication - AWGE:2: 20
Multiply - (ANGEIGERY
North - DI 1))
North East - QUL &pHE
North West - suL_Bom@
Object - A1
Obtuse angle - elifl@asmemrid
Once - RHILM6)
Pattern - Gasmevid
Perimeter - FDBETE)]
Place value - @ 11GLBIDTEdTLD
Plot - UT&ID, HIew(H
Plus - Fal L60 SIEMLITEND, Fn(H&H60
Portion - UG
Prime number - (LPSHETTEMLD 6T
Procedure - LIQ(LPeD(D3
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Quadrilateral
Quotient

Rectangle
Reflex angle
Regular shape
Remainder
Right angle
Row

Set square
Shadow
Share

South

South East
South West
Straight edge
Straight line
Straight side
Subtract
Subtraction
Sum

Thickness
Triangle
Twice

Units

Vertical
Vertically

West
Whole number
Width

BTBLIGBEHED
Fr6)

O&6i6uHBLD
Lleireuemen@asmemiid
R(PEIBTE 2 (T
1555

CemIBsmemiD
Blenyy

PEm6VANIL_L_LD
[blLpsd
UmISBSH60, LkIG
C5be .
(A0 E AN TG))
(A5 G;)
Cryalefiby
CryCan®
CrymevLIgesID
B0 HEHB
BIPHSH60

gl (HSH0HTemL

SigLIL|
(&G memil
BnsLemey

SIVGH6IT

HMVEGHD], HeN60SHEHHHTEN
BMVBGHHHTH
GoBe&

WP 616mI
SIH6VLD
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